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Unit 11 day 16







Date: _______________ Period: ____
Solving Radical Equations
Solve each equation for the variable.  Your first step should be to make sure the radical is isolated on one side of the equation. Be sure to check for extraneous solutions, that is, substitute all answers back in the original equation and verify if the answer is true or not.
	Example #1:
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*Isolate the radical onto one side
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	Example #2:
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*There are already radicals on both sides, so square both sides.

[image: image8.wmf](

)

(

)

22

3552

xx

=+



[image: image9.wmf](

)

35252

xx

=+



[image: image10.wmf]352550

xx

=+



[image: image11.wmf]1050

x

=



[image: image12.wmf]5

x

=


	Example #3:
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*Isolate the radical onto one side
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CHECK!!!    
[image: image23.wmf]4

=

x


	Example #4:
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*Isolate the radical onto one side
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CHECK!!!    
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